
Stockton 11 Double Sided High Canopy 2 Door MK2
stovaxspares.com/appliance/stoves/stockton-stoves/stockton-11-double-sided-stoves/stockton-11-

double-sided-high-canopy/serial-numbers-starting-astn-cstn/stockton-11-double-sided-high-canopy-2-door-
mk2/

Read More

1/7

www.pieces-de-poele.com

https://www.stovaxspares.com/appliance/stoves/stockton-stoves/stockton-11-double-sided-stoves/stockton-11-double-sided-high-canopy/serial-numbers-starting-astn-cstn/stockton-11-double-sided-high-canopy-2-door-mk2/
https://www.stovaxspares.com/product/na-carcass-2/


Ref.
Product

Code  Description

1 CA7687 Stockton
7/8/11/14/County/Devon/Exe/CL8
Mk2 6" Flue Adapter

2 ME600841 Stockton 11 Mk2 Wood Retaining
Plate
2 units needed

3 ST8-
MEC8800

Stockton 8/11 Double Sided -
Baffle Support Tubes
4 units needed

4 SL26SD Stockton 11 Double Sided - Baffle
Plate

5 ME500717 Data Plate Mount

6 SM18 M12 x 35mm Hinge Block Stud -
Single Stud
8 units needed

7 SM21 M12 x 6mm Hinge Block Locking
Nut - Single Nut
8 units needed

8 SM10 Stockton Hinge Block
8 units needed

9 MEC9344 Stockton 11 Mk2 Complete
Double Door Assembly
2 units needed

10 MEC9346 Stockton 11 Mk2 Airwash Slider
2 units needed

11 M0675CBLT M6 x 75mm Coach Bolt - Single
Bolt
2 units needed

2/7

www.pieces-de-poele.com

https://www.stovaxspares.com/product/6-cast-flue-collar/
https://www.stovaxspares.com/product/wood-log-retainer-plate-6/
https://www.stovaxspares.com/product/baffle-tube/
https://www.stovaxspares.com/product/baffle-4/
https://www.stovaxspares.com/product/data-plate-mount-4/
https://www.stovaxspares.com/product/m12x35mm-hinge-block-stud-single-stud/
https://www.stovaxspares.com/product/m12x6mm-hinge-block-locking-nut-single-nut/
https://www.stovaxspares.com/product/hinge-block-4/
https://www.stovaxspares.com/product/stockton-11-2-door-assembly/
https://www.stovaxspares.com/product/airwash-slider-8/
https://www.stovaxspares.com/product/m6x75mm-coach-bolt-single-bolt/


12 4949 10mm x 2mm Self Adhesive Tape
Seal - 2m Pack
2 x 1245mm length required. 2
units needed.

13 MEC9345 Stockton 11 Mk2 Airwash Control
Chamber
2 units needed

14 CA7684 Stockton 5 Wide/8/11/14 Door
Catch Block
2 units needed

15 N/A
Carcass

Welded Carcass Assembly  This part is not
serviceable and
cannot be
ordered as a
spare.

Ref.
Product

Code  Description

Drawing: PR9408-1

Do you have the correct appliance?

Before ordering your parts please ensure you have selected the correct appliance. To
properly identify your appliance you will need to know your serial number and/or model
number. Please use the following guide to help locate your data badge which contains
your serial and model number information.

3/7

www.pieces-de-poele.com

https://www.stovaxspares.com/product/clean-burn-chamber-seal-10mm-x-2mm-sa-insulation-tape-2m-pack-black/
https://www.stovaxspares.com/product/airwash-chamber-assy/
https://www.stovaxspares.com/product/catch/
https://www.stovaxspares.com/product/na-carcass-2/
https://www.stovaxspares.com/find-your-databadge/


Read MoreRead More

Ref.
Product

Code  Description

1 5700 13mm Black Door Rope Seal
with Adhesive - 2m Pack
2X950mm length required

2 RA502594 Stockton Mk2 Glass Clip

3 SL2.16 Stockton 11/14 Long Glass
Clip

4 GL0236 Stockton 11 Door Glass -
Single Peice
Dimensions 232x306x4mm

5 4975 3mm Glass Rope Seal with
Adhesive - 2m Pack
2X980mm length required

6 4951 10mm x 2mm Self Adhesive
Tape Seal - 2m Pack
2X430mm length required

4/7

www.pieces-de-poele.com

https://www.stovaxspares.com/product/na/
https://www.stovaxspares.com/product/na-assembly/
https://www.stovaxspares.com/product/13mm-door-rope-seal-pack-black-4200f/
https://www.stovaxspares.com/product/thin-glass-clip/
https://www.stovaxspares.com/product/glass-clip-4/
https://www.stovaxspares.com/product/door-glass-9/
https://www.stovaxspares.com/product/glass-rope-3mm-rope-seal-pack-black/
https://www.stovaxspares.com/product/10x2mm-black-insulation-tape-pack/


7+8 N/A For complete assembly see
Main Assembly page

 This part is not currently
available.

8 N/A
Assembly

See part 7  This part cannot be
ordered individually and
is sold as part of an
assembly.

9 ME600776 Stockton 11 Mk2 Primary
Air Slider Plate

10 MEC9022 Stockton 5/6/7/8/11 Mk2
Primary Air Slider

11 SL2.3RH Stockton 11 Right Hand Air
Control Cover Plate with
Logo

12 SL2.3LH Stockton 11 Left Hand Air
Control Cover Plate

13 CA7677 Stockton/Yeoman Mk2
Multifunction Door Tool

14 SM2.7 Stockton 5 Wide/8/11/14
Door Knob

15 YM-
F00004

3mm x 18mm Spiral Pin -
Single Pin

16 FA9017 Airwash Spinner Spring

17 ME600647 Stockton/County/Devon/Exe
Double Door Mk2 Door
Spindle Shaft

18 SM20 Stockton Door Hinge Pin

Ref.
Product

Code  Description  

5/7

www.pieces-de-poele.com

https://www.stovaxspares.com/product/na/
https://www.stovaxspares.com/product/na-assembly/
https://www.stovaxspares.com/product/primary-slider-plate-5/
https://www.stovaxspares.com/product/primary-slider-mk2/
https://www.stovaxspares.com/product/sl2-3rh/
https://www.stovaxspares.com/product/sl2-3lh/
https://www.stovaxspares.com/product/multifunction-door-tool/
https://www.stovaxspares.com/product/door-knob-3/
https://www.stovaxspares.com/product/3x20mm-spirol-pin-single-pin/
https://www.stovaxspares.com/product/spring/
https://www.stovaxspares.com/product/door-spindle-shaft/
https://www.stovaxspares.com/product/hinge-pin-3/


19 RVAC111 M8 Hex Thin Nut - Single
Nut

20 MEC9081 Stockton 5 Wide/8/11/14
Double Door Catch

21 MEC9288 Stockton 5 Wide/8/11/14
Mk2 Double Door Spindle
and Catch Assembly
Assembly including parts
17, 19 and 20

Ref.
Product

Code  Description

Drawing: PR9307-3

Do you have the correct appliance?

Before ordering your parts please ensure you have selected the correct appliance. To
properly identify your appliance you will need to know your serial number and/or model
number. Please use the following guide to help locate your data badge which contains
your serial and model number information.

6/7

www.pieces-de-poele.com

https://www.stovaxspares.com/product/m8-avanti-door-catch-nut-single-nut/
https://www.stovaxspares.com/product/2-door-spindle-catch-block-assembly-mk2/
https://www.stovaxspares.com/product/stockton-mk2-door-spindle-assy/
https://www.stovaxspares.com/find-your-databadge/


Ref.
Product

Code  Description

1 S11SD64 Stockton 11 Double Sided Mk1 Main
Grate

2 CA7690 Stockton 11 Log Guard

3 ST11D2DDS Stockton 11 Double Door Mid Door Seal
Brackets

4 S11SD65 Stockton 11 Double Sided Grate Side
Support

5 MEC9348 Stockton 11 Double Sided Mk2 Ashpan

Drawing: PR9410-1

Do you have the correct appliance?

Before ordering your parts please ensure you have selected the correct appliance. To
properly identify your appliance you will need to know your serial number and/or model
number. Please use the following guide to help locate your data badge which contains
your serial and model number information.

7/7

www.pieces-de-poele.com

https://www.stovaxspares.com/product/grate-8/
https://www.stovaxspares.com/product/log-guard-24/
https://www.stovaxspares.com/product/door-seal-pair/
https://www.stovaxspares.com/product/side-support/
https://www.stovaxspares.com/product/ashpan-assy-4/
https://www.stovaxspares.com/find-your-databadge/



